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Time : 3 Hours ] [ Maximum Marks : 100
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Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to

attempt questions from one option only.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| EH$ go A{YH$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SEC TION–A

I S>–A

1. What is meant by marginal revenue? When sales increase by one more unit,

total revenue increases from R 1,980 to R 2,500. Find marginal revenue. 2

gr_m›V AmJ_ go ä`m A{^‡m` h°? O~ {dH´$` _| EH$ BH$mB© H$s d•{’ hmoVr h°, Hw$b AmJ_ R 1,980

go ~ãT>H$a R 2,500 hmo OmVm h°ü& gr_m›V AmJ_ kmV H$s{OEü&

2. If a curve is upward rising from left to right, how are the two variables related?

Give an example of an upward rising curve. 2

`{X EH$ dH´$ ~m`| go Xm`| D$na H$s Amoa ~ãT>Zo dmbm h°, Vmo Xmo Ma {H$g ‡H$ma gÂ~p›YV h¢? D$na H$s 
Amoa ~ãT>Zo dmbo dH´$ H$m EH$ CXmhaU Xr{OEü&
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3. Classify the following as fixed cost or variable cost : 2

(a) Rent on factory building

(b) Expenditure incurred on raw material

(c) Property taxes

(d) Interest on borrowed capital

{ZÂZ{b{IV H$mo AMb bmJV AWdm n[adVu bmJV _| dJuH•$V H$s{OE :

(H$) \°$äQ¥>r Ho$ ^dZ H$m {H$am`m

(I) H$Éo _mb na {H$`m J`m Ï``

(J) gÂn{Œm-H$a

(K) CYma br JB© ny±Or na „`mO

4. Define ‘stock’ and ‘flow’ concepts. 2

"ÒQ>m∞H$' VWm "‡dmh' AdYmaUm H$s n[a^mfm {b{IEü&

5. What is value added? What is value added if a firm’s value of output is

R 20,000 and intermediate consumption is R 4,990? 2

_yÎ` d•{’ ä`m hmoVr h°? `{X EH$ \$_© Ho$ CÀnmXZ H$m _yÎ` R 20,000 VWm _‹`dVu Cn^moJ
R 4,990 h°, Vmo _yÎ` d•{’ ä`m h°?

6. What is mid-point of a class interval and how is it calculated? 2

{H$gr dJ© A›Vamb H$m _‹`-{~›Xw ä`m hmoVm h° VWm BgH$s JUZm H°$go H$s OmVr h°?

7. If total fixed cost is R 10,980 and production is zero, find total variable cost and

total cost. 2

`{X Hw$b AMb bmJV R 10,980 h° VWm CÀnmXZ ey›` h°, Hw$b n[adVu bmJV VWm Hw$b bmJV kmV 
H$s{OEü&

8. What is net indirect tax? Find net indirect tax if indirect tax is R 50 crores and

subsidy is equal to R 29 crores. 2

{Zdb A‡À`j-H$a ä`m hmoVm h°? {Zdb A‡À`j-H$a kmV H$s{OE `{X A‡À`j-H$a R 50 H$amoãS> VWm 
Am{W©H$ ghm`Vm R 29 H$amoãS> h°ü&
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9. Give the meaning of the terms ‘market supply’ and ‘market demand’ of a

commodity. 2

{H$gr dÒVw H$s "~mOma Amny{V©' VWm "~mOma _m±J' nXm| H$m AW© ~VmBEü&

10. Calculate net national product at factor cost : 5

                      R (in crores)

(i) Net factor income from abroad 112

(ii) Consumption of fixed capital 43

(iii) Indirect tax 22

(iv) Subsidies 18

(v) GDP at market prices 758

gmYZ bmJV na {Zdb amÔ¥>r` CÀnmX H$s JUZm H$s{OE :

R (H$amoãS>m| _|)

(i) {dÌd go ‡m· {Zdb gmYZ Am` 112

(ii) AMb ny±Or H$m Cn^moJ 43

(iii) A‡À`j-H$a 22

(iv) Am{W©H$ ghm`Vm 18

(v) ~mOma H$s_Vm| na gH$b Kaoby CÀnmX 758

11. What is meant by ‘government budget’? Distinguish between ‘plan’ and

‘non-plan’ expenditures of government. 5

"gaH$ma Ho$ ~OQ>' go ä`m A{^‡m` h°? gaH$ma Ho$ `moOZmJV Ï`` VWm J°a-`moOZmJV Ï`` _| ^oX
H$s{OEü&

12. What is a production possibility curve? With the help of a production possibility 

curve, explain ‘growth of resources’. 5

CÀnmXZ gß^mdZm dH´$ ä`m hmoVm h°? CÀnmXZ gß^mdZm dH´$ H$s ghm`Vm go "gßgmYZm| H$s gßd•{’' H$mo
g_PmBEü&
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13. Write down the relation between the following : 5

(a) NDP at mp and GDP at mp

(b) GNP at mp and NNP at fc

(c) NNP at fc and national income

(d) GVA at mp and value of output

(e) NNP at fc and NDP at fc

{ZÂZ{b{IV _| gÂ~›Y {b{IE :

(H$) ~mOma H$s_Vm| na {Zdb Kaoby CÀnmX VWm ~mOma H$s_Vm| na gH$b Kaoby CÀnmX

(I) ~mOma H$s_Vm| na gH$b amÔ¥>r` CÀnmX VWm gmYZ bmJV na {Zdb amÔ¥>r` CÀnmX

(J) gmYZ bmJV na {Zdb amÔ¥>r` CÀnmX VWm amÔ¥>r` Am`

(K) ~mOma H$s_V na gH$b _yÎ` d•{’ VWm CÀnmXZ H$m _yÎ`

(L>) gmYZ bmJV na {Zdb amÔ¥>r` CÀnmX VWm gmYZ bmJV na {Zdb Kaoby CÀnmX

14. Construct a demand schedule showing ‘decrease in demand’ and draw the

corresponding diagram. 5

"_m±J _| H$_r' H$mo Xem©Vo h˛E EH$ _m±J Vm{bH$m H$m {Z_m©U H$s{OE VWm CgHo$ AZwgma {MÃ ~ZmBEü&

15. State any five features of economic policies before 1990–91. 5

1990–91 go nyd© H$s Am{W©H$ Zr{V`m| H$s {H$›ht nm±M {deofVmAm| H$m CÑoI H$s{OEü&

16. Draw single vertical bar chart for the following data : 5

{ZÂZ{b{IV Am±H$ãS>m| go EH$ D$‹d© X S> {MÃ ~ZmBE :

Number of cars sold in City A

A eha _| {dH´$` H$s JB© H$mam| H$s gßª`m

Year Number of cars sold

df© {dH´$` H$s JB© H$mam| H$s gßª`m
2008 30000

2009 50000

2010 80000

2011 100000
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17. Describe any four main features of Indian economy as a developing economy. 8

{dH$mgerb AW©Ï`dÒWm Ho$ Í$n _| ^maVr` AW©Ï`dÒWm H$s {H$›ht Mma _wª` {deofVmAm| H$m dU©Z
H$s{OEü&

18. Distinguish between ‘budget deficit’ and ‘fiscal deficit’. Give two reasons why

fiscal deficit is a better measure than budgetary deficit. 8

"~OQ>r` KmQ>m' VWm "amOH$mofr` KmQ>m' _| ^oX H$s{OEü& amOH$mofr` KmQ>m, ~OQ>r` KmQ>o H$s Anojm EH$
~ohVa _mn ä`m| h°? Xmo H$maU Xr{OEü&

19. (a) Explain the steps in calculation of arithmetic mean in frequency array by

indirect method.

(b) Give any two advantages and any two disadvantages of arithmetic mean. 8

(H$) A‡À`j {d{Y ¤mam Amd•{Œm gmaUr _| AßH$J{UVr` _m‹` H$m AmH$bZ H$aZo _| ‡ ẁ∫$ MaUm| H$mo
g_PmBEü&

(I) AßH$J{UVr` _m‹` Ho$ {H$›ht Xmo JwUm| VWm Xmo AdJwUm| H$m CÑoI H$s{OEü&

20. Explain any four long-term objectives of economic planning in India. 8

^maV _| Am{W©H$ {Z`moOZ Ho$ {H$›ht Mma XrK©H$mbrZ C‘oÌ`m| H$s Ï`mª`m H$s{OEü&
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SECTION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Role of Agriculture and Industry in India’s Economic Development )

( ^maV Ho$ Am{W©H$ {dH$mg _| H•${f Am°a C⁄moJ H$s ŷ{_H$m )

21. If a farmer produces 200 quintals of a crop on 10 hectares of land, calculate

productivity of land. 2

`{X EH$ H•$fH$ 10 h°äQ>ò a ŷ{_ na {H$gr \$gb H$m 200 qπ$Q>b CÀnmXZ H$aVm h°, Vmo ^y{_ H$s
CÀnmXH$Vm H$s JUZm H$s{OEü&

22. What is meant by public sector? State and explain briefly any four problems

faced by public sector enterprises in India. 5

gmd©O{ZH$ joÃ go ä`m A{^‡m` h°? ^maV _| gmd©O{ZH$ joÃ Ho$ C⁄_m| H$s {H$›ht Mma g_Ò`mAm| H$m
CÑoI H$s{OE VWm gßjon _| Ï`mª`m H$s{OEü&

23. State and explain any four causes for low productivity in Indian agriculture. 8

^maVr` H•${f _| {ZÂZ CÀnmXH$Vm Ho$ {H$›ht Mma H$maUm| H$m CÑoI H$s{OE VWm BZH$s Ï`mª`m H$s{OEü&
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OPTION–II

{dH$ÎnçII

( Population and Economic Development )

( OZgßª`m Am°a Am{W©H$ {dH$mg )

21. If the birthrate is 26 per thousand and death rate is 8 per thousand, what is

the rate of growth of population? 2

`{X O›_Xa ‡{V hOma 26 h° VWm _•À`w Xa ‡{V hOma 8 h°, Vmo OZgßª`m H$s d•{’-Xa ä`m h°?

22. What is meant by sex ratio? What are the main reasons for low sex ratio in

India? 5

qbJ AZwnmV go ä`m A{^‡m` h°? ^maV _| {ZÂZ qbJ AZwnmV Ho$ _wª` H$maU ä`m h¢?

23. Describe the population problem in India and elaborate any four measures

taken by the government to control population growth in India. 8

^maV _| OZgßª`m H$s g_Ò`m H$m dU©Z H$s{OE VWm ^maV _| OZgßª`m d•{’ Ho$ {Z`ßÃU Ho$ {b`o gaH$ma 
¤mam {H$ ò J ò {H$›ht Mma Cnm`m| H$s {dÒVma _| Ï`mª`m H$s{OEü&

H H H
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